
Math 102 Major Quiz 3

Name: 				ID# 		  Section# 	     Serial#            


	Question#
	Answer

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	

	Total
	



Instructions:
1) Place your answer “letter” in the above table, including your complete solution
2) Place letter “N” if you solved the question completely, but found no answer
3) [bookmark: _GoBack]Leave your answer blank if you did not complete your answer
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(c) a series for which no test is applicable
(d) divergent by the limit comparison test

() a convergent geometric serics.
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The interval of convergence for the power series >
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Which one of the following series is Divergent?
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(a) convergent

(b) divergent




